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𝐴

𝐵
𝑥100

                                                

 

https://repositorio.cepal.org/bitstream/handle/11362/9939/S2003659_es.pdf?sequence=1&isAllowed=
https://repositorio.cepal.org/bitstream/handle/11362/9939/S2003659_es.pdf?sequence=1&isAllowed=
https://repositorio.cepal.org/handle/11362/5611?locale-attribute=es
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https://www.mef.gob.pe/contenidos/presu_publ/ppr/guia_seguimiento_pp.pdf
https://repositorio.cepal.org/bitstream/handle/11362/9939/S2003659_es.pdf?sequence=1&isAllowed=
https://repositorio.cepal.org/bitstream/handle/11362/9939/S2003659_es.pdf?sequence=1&isAllowed=
https://repositorio.cepal.org/handle/11362/5611?locale-attribute=es
https://repositorio.cepal.org/handle/11362/5611?locale-attribute=es


 
 

 

 

 

𝑛 =
𝑁 ∗ 𝑍2 ∗ 𝑝 ∗ 𝑞

𝑑2 ∗ (𝑁 − 1) + 𝑍2 ∗ 𝑝 ∗ 𝑞
= 344 
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𝑃𝑢𝑛𝑡𝑎𝑗𝑒 𝑑𝑒 𝑒𝑚𝑝𝑟𝑒𝑠𝑎 𝑞𝑢𝑒 𝑡𝑢𝑣𝑜 𝑎𝑙𝑔𝑢𝑛𝑎 𝑎𝑝𝑙𝑖𝑐𝑎𝑐𝑖ó𝑛 =
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